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Nonlinear transforms

X = ($07$17'°' 7$d)

o

> 7Z = (207 %50 00°0000000¢ 7ZCZV)

Fach z; = ¢i(x) z = P(x)

o, 2 .2
Example: z = (1,21, X9, T129, T7, 5)

Final hypothesis g(x) in X space:

sign (W' @(x)) or w'®(x)
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X =

(20, 21, - - -

The price we pay

o

,de) > 7 — (207 Zl) ............

dve =d—+1

dmf§J+1
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Two non-separable cases
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First case

Use a linear model in X'; accept E;, > 0
or

Insist on Fi,, = 0; go to high-dimensional Z

©

o,
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Second case

B 2 .2
Z — (173317:1:27 :1313327 33173:2)
Why not: z = (1,27, x3)

or better yet:  z = (1, 2% + x3)

or even: 7 = ($% =+ $% —0.6)
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| esson learned

Looking at the data before choosing the model can be hazardous to your Ey

Data snooping

Learning From Data - Lecture 9




